‘ SHL asizne

MRIEEL

{ . s
{ bt SYH 8132 Je5E /OB R B SR R T R EEL
. FEREAK
: RE Lock Valve, Relief Valve, Bhid %, BH /& EEL =5,
® {FEBIEI 2R RIFHES
& g
| £
CT
o]
3
o
g = SRR
) SHL-17068 SHL-18077 SHL-25011 SHL-39024
1E1E [mm] 68 77 1175 240
JEEETR [mm] 170 185 255 390
JEEE(TIE [mm] 40 40 50 51
JEZEHES Push [kN(kgf)] 63(6531) 75.3(7632) 132(13390) 152.5(15570)
JEEEHES Pull [kN(kgf)] 59.8(6060) 69.6(7087) 121(12305) 138.7(14152)
RATEES [MPa(kgf/cmd)] 4.0(40.8) 4.0(40.8) 4.0(40.8) 2.5(25)
AYFHIBRARALEE [min™] 5600 5000 3000 1500
TREFE [N - mi(kg - m?)] 0.69(0.070) 0.86(0.088) 1.9(0.193) 39.64(4.045)
2 17.8 185 54 140
2 Leak 2 [£/min] 4 42 7 22
¥ AYFHIRAFIRUSSMER .
¥ RSO REAR B A TS RMER &,
J1 Ji1 i\ ] \%
R1 Al B1
g
2X2-S1
—& —
B, | xR LA NE S
( K< @ > < V ] i’
P1 o~
5 ola|z| X| 5 o|w| i alo
slels) sl s| [ v i [ H s|s| |88
= 8! = =]
W1
4-Q1 L
6-E1
‘ G1
L ‘ 12F1
PT1 /| '
o] K1 z

o

X BIEN

)

@R

=]

o

108 |SavsE-=-=T




OFE tREER

p=4

<

H max.

©

pul
i}
= I
3 ||+ Sl=|& =t ‘)

i

=
=

w
—

()
—

=
2~ 3

!
[y

(9]
—

—
—

T

=

1

=
—

el
—

o)
=

wn
—

—
—

=
=

| o |
| m
|
| m
I
| n
| w

I
=

SHL-17068 SHL-18077 SHL-25011 SHL-39024
210 218 310 450
190 190 275 420
160 160 230 320
120 120 166 280

85 95 140 265
M75x2.0 M85x2.0 M130x2.0 M250x3.0
68 77 1175 240
48 48 46 30
88 98 138 268
m 121 170 310
154 164 230 370
150 165 107.5 340
175 182 258 302.5
35 35 46 50
-5 -5 -4 -1
65 65 87 76
25 25 37 25
5 5 6 6
10 10 19 22
128 1345 176.5 199
35 35 45 45
M6 M6 M6 M6
M10x20 M10x20 M16x32 M16x40
133 140 190.5 215
145 155 206 350
97 102 140 215
47 47 55 75
15 15 120 20
71 80 123 243
100 108 150 284
4 4 55 55
Méx10 Méx10 Méx12 Méx12
7 7 7.5 7.5
PT1/2 PT1/2 PT1/2 PT1/2
5 5 6 6
M74x1.5 M84x2.0 M124x2.0 M253x2.0
725 81 122 249
26 26 29 38

Rotary Cylinder



	回转油缸 6
	回转油缸 7

